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%1% F15 201941H13H
1 MGEPA VS 3 iREPA
H= A=
A T T A
It = 7 kT ITapp— % BRE
B EHR 7 : {maxhE RN A FE
x| | ER | m R | mee| e | 2 |er axe| D) | T
1 |wmxE| 4 | onT | #1 | 150 | 4t | ANT | +2 | 150
2 it [£3] 2H +2 170 x 2S = -110 7
3 ,?ﬁ 1t INT = 90 [£3] 2D -4 -200 7
4 PE=] 1t 3S -1 -100 5| 2S +1 140
5 it [£3] 4S -1 -100 ® 3D -1 50 4
6 g nyiie] [£3] 3NT -1 -50 [£3] 3NT +1 430 10
7 WE=] [£3] 4S = 620 [£7] 4S = 620
8 TS x 4H -1 50 x 1H +2 -140 5
DATUM%it g
SGEBA RGP Y. X+ 19 20
ERWABHR  -10 SER/ T & -7 ait 19 20
DEE/TZ 7 oREREE /(A 10 V.P. 9.56 | 10.44




2019¢F “"RIER" BUSE

(1)

01k 25 201941H13H
2 INKiE VS 4 RIELRA
H= A=
ek RUE RUEI ek
16 U 7 e I EE = oE
B IR A EE B BR= 7 : FRIS
x| | ER | m R | mee| e | 2 |er axe| D) | T
1 TS [ri] 3H 100 [£3] 2S = 110
> |&gdkl & | aNnT | -2 | 50 | & | aNT | = | 20 | 2
3 g nyiie] [£3] 2S +3 200 [£3] 4S +1 450 6
4 WE=] 1t 3D = 110 [£3] 3C = 110
5 it [£3] 4H +2 680 [£3] 4H +2 680
6 panyiic] [£3] 2NT = 120 [£3] 3NT -1 -50 5
7 WE=] [£3] 3NT = 600 [£7] 2H = 110 10
8 TS x 3H = -140 [£3] 3D = 110 6
DATUMSit T
N6 RUEIBA B | o |
XUfZ/Z= IR 9 ER/ RS 2 ait 19 12
2258/ RIS -2 RIENE/EZE -9 V.P. 12.77 | 7.23
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(1)

%1% 3R 201941H13H
3 iREZPA VS 5 {5 5=PA
H= A=
T R R S
it : ZBiE % EEHR it : Repte IR : 5KERE
W TR 7 - T & - A 7 - fME
x| | ER | m R | mee| e | 2 |er axe| D) | T
1 TS [ri] 3Cx -3 500 x INT -2 100 9
2 it 1t 3NT +1 630 1t 3NT = 600 1
3 ,?ﬁ [£3] 4H +1 450 1t 4H +2 480 1
4 WE=] x 3NT = -600 ® 3NT +2 -660 2
5 it 1t 4S -1 -100 [£3] 2NT +1 150 6
6 g nyiie] 1t 4S = 420 [£3] 3NT +2 460 1
7 WE=] [£3] 6S = 1430 [£7] 6S +1 1460 1
8 TS [£3] 2S +1 140 [£3] 3NT = 400 6
DATUM%it g
IR PA {#F5=PA Y. X+ 12 15
SER/ T & 29 Srpfe/ 2T 32 ait 12 | 15
KREATIME 32 TEMUEME 29 | ve. | ers | e




20194F “RIEWA" BIFZ (1)

1R %45 201941 H13H
4 RELPA VS 1 SGEPRA
= =
RUELBA SOXBA SOXBA RUELBA
it : &BE R DEE it BRI R EE
B RUES A EE B EER 7 : RmE
x| | ER | m R | mee| e | 2 |er axe| D) | T
1 |wxl &t | sH | +1 | 480 | & | an | +3 | 510 1
2 |@t] = | 31 | = | -290| &® | 31 | 2 | 100 6
3 || & | sNnT | = | 400 | B | aNT | +2 | 460 2
4 |wal 4 | sH | 2 | 200 4 | s5H | -2 | 200
5 |gdt|] = | es | 2| 50 } & | 55 | = | 450 ]| 12
6 || = | aNT | +2 | 150 | & | INT | +2 | -150
7 | XWNFl & 2S +3 | -200 x 3S +1 | -170 1
8 |wxl|l m | 2s | 2| s0 | 4 | 2nT| 2| 50 ]| 3
DATUM%it iFE
RUELRA SGXBA £5 14 10
EE/MES 22 ERWABSER W -24 ait 14 | 10
ETE/RITE 24 DEE/TZ 22 V.P. 11.67 | 8.33
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%1% ¥ 5 R 201941 H13H
5 {7F7=<BA VS 2 1IN
A= A=
1IN INKIE INEI 1IN
it : Rrpfke R OiR 1t : XUBZ R EFEHK
A BEan 7 : RIS g« IR 7h . TS
x| | ER | m R | mee| e | 2 |er axe| D) | T
1 TS 1t 4S +1 450 [ri] 5Dx -1 100 8
2 it x 3NT = -400 x 3NT +1 -430 1
3 g nyiie] [£3] 3NT +2 460 1t 2H +1 140 8
4 PE=] 1t 4H = 620 5| 4H = 620
5 |mdt] 46 | aNT | +1 | 120 § 4t | aNT | = | 600 10
6 panyiie] 1t 2S -2 -100 [£3) 3H -2 -100
7 PE=] [ri] 2H +1 -140 [ri] 3H = -140
8 TS [£3] 3NT -1 -50 1t 4H -2 -100 2
DATUM% it g
{#F7=BA I\ ;7 ¥ 3+ ] 19 | 10
Rehte/FEisr -8 XURZ/ZELE -15 ait 19 | 10
EER/ERS 15 2058/ FRIS 8 V.P. 13.45] 6.55




